Question Bank for Mechanical Fitter trade (Indicative)

Number of Grid Fan fitted in

| WDP4D ol & foraer @18 et o9 g1 82

WDP4D loco is

a) |1 1

b) |2 2

c) |4 4

d) | Grid Fan is not fitted s et AT o9r @
3RV piston ring kit in ALCO ALCO 5 & 3RV fareest Rt fve 3 2
Locomotive has 2 compression ring | & o7 3T 1 3ifaer W Rt g ¥
and 1 oil scrapper ring
False el ‘
How many position setting of C3 C3 W %@%‘q\?\f ared & fohdel TUEes
W distributor valve has afeer gia 82

a) | No different setting S 3rerer Afar g7

b) | Three position setting der afaee afder

c) | One position setting s qifaiereT aféar

d) position setting
In case of 1400 HP DEMU, 1400 HP DEMU 51 & #geTas &i1-alls
minimum no-load idling speed of rssfeer atifa 700 rpm gl
engine is 700 rpm
Faise Il
Load meter is connected to TM No | @3 #iex TM &. 1 3R 2 & Js7 8ielr &
1& 2
True
False
MR safety valve is set at pressure | MR Jw aTed & gad (kg/cm’H) <

frar ST &

b) | 6.0 kg/cm2 6.0 kg/cm?

c) - | Below 6.0 kg/cm2 6.0 kg/cm*¥® &

d) | Above 10.5 kg/cm2 10.5 kglem*® 31T

' In HHP locomotives(WDG4D), TSC | HHP afiAifed (WDG4D) # TSC fust
spin on filter is fitted on 37T fbeet wgl fhe fFar arar 87

a) | left side , rear end of the engine a1 o1 97 Rod e

b) m;‘?sfide‘,f the engine | &ré et T
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c) | left side , front end of the engine | & i1 & TTHA
d) Right side ,front end of the engine |28 331 & FHA
8. Air Compressor fitted in WDM3A | WDM3A wishiaifed & o arg adis® il
loco is water cooled. MNfaa g
9.
a)
b)
c) | Turbo supercharger et guwme
d) | Power assembly qre 34l .
10. How much taper is provided in W f3sme ALCO & 3foireq ar
wheel tread in conventional design | HHP clfeiAIfed (el Mgl SKDL-2561
ALCO or HHP Locomotive (wheel |- dd=ad aRads) & afgal & 25 & fFash
profile SKDL-2561 - latest U ST T AT &
alteration)
a) |1 0 20 # 1
b) | 1in 50 50 # 1
c) |1in 80 80 #f 1
d) |1in 40 40 3 1
11. The presence of element FeFIafhes faeelwor & SN ogd Hiaer A
Chromium (Cr) in lube oil during PITATH (Cr) &1 sufeufa zaf-guearit
spectrographic analysis indicates JaRer & A Fr g gl
the wear of turbo-supercharger
bearing
True el
12. In WDP48 loco, Radiator fans is WDP4B dishiAlied & Wsuex et H&a
directly driven by Main Engine STl shepeTore SaRT WY Farferd g1 &
crank shaft.
True qer
False
13. Diesel electric locomotive WDGBG | SI5Tal Salfdge dlldhidAiica WDG6G &1 afdd

has 6000HP.

True

6000HP I

False

dTeld




i
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14, Passenger link loco will not earn | 3P YR Toleh el &1 A AT &
outage if it is sent to shed for fav 5 &7 a7 Sar §, aF I 33 AT
minor schedule HATTAT|
True TEr
Fa&s& T

15. In WDM3A loco, Thrust collar is | WDM3A dllshl & ¢ shioll HE&T SR
located at main bearing Number-—- | d&---- 9 f&ud giar gl

a) | Bearing No-05 9T TaX-05
b) | Bearing No-5 & 6 Fafer Fav-5 3R 6
c) | Bearing No-01 JIReT ASR-01
d) | Bearing No-09 ¥R Aew-09
16. In HHP locomotive, main engine HHP dieAIfca & #&d gt & ga
lube oil level is to be checked at | 31/ Iel ¥R Fd AT AT &2
a) | No need to check the level T ST T TR AGT
b) | Engin idle condition go1 T 3R T e
c) | Engine shut down condition gl 9 glel o RYfa A
d) | Engine run & 8th notch condition | SsteT I 3R 84T =rg *ufa &
17. Blow-bye test in ALCO loco is ALCO @t # sir-ars_ ¢¥e fordy glafead
conducted for ensuring A & T fFar sirar &2
a) | proper valve timing AT dred TSR
b) | Crankcase vacuum $arhg fard .
proper functioning of turbo el GUTETe &1 FHMRT Harere
C)
gt @1 & B
d)

18. Normal LCR position in MCBG MCBG 1= @Yt # dAET LCR f&ufa

Governor loco is --- Fa1 8?7
a) | 6:30 Hrs 6:30 T
b) |9:30 Hrs 9:30 T¢
c) | 12:30 Hrs 12:30 ¢
d) |5:30 Hrs

19. Gear ratio of WDG4 locomotive is | WDG4 wishraATied & 1Y 3iefard 77:17
77:17 gl
true Her
false |

20. Wheel sets and Axle boxes in AEfed (ALCO & HHP) & =i de 3R

Locomotives (ALCO & HHP) are?

g diFd F4T @ 872

Sprung mass

T AT
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ay

b) AT A
0 Partially Sprung mass HIFAF §F F T AW
None of the above SIH & HIS @l
d)
21. Ejector fitted in WDG4 locomotive | WDG4 di@sifed 7 fhes saigret &am
YT 872
cuum in main engine
a) |¢
Maintains cooling water pressure FHiclar dfeX YR FATC I@AT ¢
b) | correct
Maintains low exhaust gas TARe A & JUATT HH FAC I@T §
c) | temperature
Maintains Booster air pressure for | el & AU §¥T TI YW AT I@dT §
d) | engine |
22. High viscosity of lubricating oil feehidar e H 3Ty W -y a1
indicates HT Hhd al 67
a) | None of the above AH A I AGT
b) | Mixing of fuel in lube oil g 3ol H SUT T AT
c) | Mixing of water in lube oil qd el # tn;ﬁ il ﬁarw
d) ixing tbon contents tﬂé’ﬂ el w1 e
23. In WDG4D loco, Aux Generator WDG4D &l # 3ifFaer’ SeieX 318d
drive gear is driven by TRR foraa danfaa giar 87
a) | Split gear e IR
b) | No-2 Idler gear da-2 ABser PR
c) | Left side Cam gear |3 3~ﬁT P HaT fﬁ?ﬂ
d) nght s*iée Cam gea? -
24, WAP7 Loco have no. of Brake WAP7 a7 %ﬁ 3% sdled BId 67
Blocks.
a) |12 12
c) {48 48
d) |64 64
25| | What is the traction motor pinion WAP7 ol & ¢l AleX faaa TR
gear and Bull Gear ratio of WAP7 | 3iX §o Rt &7 R 3requma &m g2
Loco.
a) | 18:65 18:65
b) 21:107
c) 20:72




d) | 19:65 19:65
26. What is the specified vertical WAP7 il & ToFaer sierd 3R a1l %A
clearance between Axle Box and ¥ dra PR afeerd FaatE fraar &
Bogie Frame of WAP7 Loco.
a) | 28-36 mm 28-36 AT
b) |25 -38 mm 25-38 faaT
C) 30~35 mm 30-35 @+
d) |30-38 mm 30-38 el
27. What is the new wheel dia of WAP7 &l & AT qfgdi &1 ca frder
WAP7 Loco glar g2
a) | 1090 mm 1090 fash
b) | 1094 mm 1094 A+
c) | 1096 mm
28. What is the axle load of WAG9 WAGO m 1 T S g?
Loco
a) 20T 20 T
b) [185 T 185 T .
c) (2257 225 T
d [216T 216 T
29. What is the traction motorpinion WAGY @r! & gareret Aty fAae iR gof
and Bull Gear ratio of WAGY Loco. | R &1 3ie[dre am g7
a) | 18:65 18:65
o) s
c) |20:72 20:72
d) | 19:65 19:65
30. What is the damping force value of | WAP7 &Yl & aféarar grsgifoie 3¢ &l
Vertical Hyd damper in WAP7 ST g R %“?
Loco.
a) | 9000 N 9000 N
b) | 10000 N 10000 N
c) |8000 N 8000
d) | 11000 N 10¢
31. How many total Hyd. dampers are | WAP7 dil & el fohcel grsgifaid 370X
used in WAP7 Loco. &1 3T AT ST 82
a) |18 18
b) |20 20
o) |22 22
d) |24 24
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32. Wheel diameter (mm) of new DETC # v ufgdr &1 =ag (fR#)) fraen
wheel in DETC is: giar &2
a) | 870 mm 870 TAHAT
b) | 940 mm 940 f&+Y
c) | 914 mm 914 AT
d) |952 mm 952 fAsh
33. Maximum axle load (Tonnes) in DETC # 3®&dA vaad g (c) Rhder
DETC: ' T &2
a) (15T 15T
b) |18 T 0
o |16T 16 T
d [19T 19 T .
34. What is the gear ratio in DETC? DETC & f1aX 3feurd & &7
a) |18:15 18:15
b) |18:74 18:74
d) 17:71 17:71
35. Maximum operating speed (in DETC &1 Jter=ir A[1 9T Af&Fdsa
KMPH) in Rajdhani routes of aferere T (Reev/een) Fam ¥2
DEfC:
a) | 100 KMPH 100 frel/aer
‘b) | 105 KMPH 105 ferel/aer
c) |110 KMPH 110 Resvreier
d) |95 KMPH 95 frafi/der
36. What type of power transmission is | DETC # frd YR & 9G¥ @A
used in DETC? 3qer fRar Srar 82
a) | bcibc DC/DC
b) DC/AC
C)
d) ACIAC
37. | How many engines are fitted in the | DETC & 3753l # fohcel g3 fthe fohw
under slung of DETC? T 2
a) |1 1
b) |3 3
c) |2 2
d) |4 4
38. DETC # fardsl grer UFedhr five fohu

How many power rectifiers are
fitted in DETC?




f. Q¢

a) |1 1
b) |3 3
c) (2 2
d |4 4
39. Which type of spring is used for | DETC # gfddrae @i & fav &
secondary suspension in DETC? eh &1 T&YaT IuAter fFam SATer g2
a) Helical Springs gideher Toysq
b) | Air Springs wR R
c) | Double Coil Springs S Pigel 9T
d) | None of the above TAH F PIS Gl
40.| | How many Air Brake Cylinders are | DETC & f¥asl W 3% faeist fne e
fitted in DETC? T §?
a) |2 2
b) |4 4 ,
c) |6 6
d |8 8
41. How many Parking Brake Cylinders | DETC & foraey wiférer s Reist fihie fw
are fitted in DETC? T §? .
a) |2 2
b) |4 4
c) |6 6
d |8 8
42. How many brake blocks are fitted | DETC & fahdey 9% salied fthe fohT aTw 87
in DETC?
a) | 8 8
b) |12 12
c) 16 16
d |24 24
43. Which type of wheel arrangement | DETC & aRft & ffd YR & ogiat
is used in the bogie of DETC? 3T 39ANT fRAr AT 87
a) | Co Co Co Co
b) |A1A A1A
c) | Bo Bo
d) | None of the above AN A I AGT
44, How many Helical Springs are DETC # fohde gfoterel foved fihe forw arw
| fited in DETC? 82
a) | 8 8
b) |12 12
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c) |16 16
d |24 24
45, What is the capacity (KN) of Air DETC & 9ged TaX f&yer &1 &mar (KN)
Spring used in DETC? FaT §?
a) | 140 140
b) | 120 120 .
c) | 160 160
d) | 180 180 -
46. How many dampers are fitted in DETC # fhdal 3F fibe fhw arw &2
DETC?
a) |8 8
by |4 4
o) |6 6
dy |12 12
47. What is the wheel gauge length DETC & 23k & &g @ e oy
between wheel discs of DETC? | faciely gt ¥2 -
a) | 1590 mm 1590 T&R&HY
b) | 1594 mm 1594 fR&T
c) | 1596 mm 1596 A+
d) | 1600 mm 1600 fal
48. The following type of Nut is used | “Udlel e’ & T TAFIYRR &I AT HI
for “Allen bolt"" FqRT R ST &
a) | Allen nut Tolel &I
b) | Hexagonal nut YChIUfT 1T
c) | Slotted nut TAlCE AT
d) |Any one of the above IRFT A W
49. What is the name of the nut which | 38 & T a1 &7 § it dRR & 1Y
is a hexagonal nut with a washer? | YeaIolg & grar &7
a) | Cap nut Fq AT
b) | Dome nut A AC
c) |Flanged nut
d) | Wing nut faer a1 |
50. How many total hydraulic dampers | WAP7 &t & el fohclel grggifereh 37X
are used in WAP7 Loco? 3qaer fFe s &2
a) |20 EB
b) |18 18
o) |22 22
d |24 24
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51. What is the axle load of WAGY WAGY efel & Tardd dis et gldr 872
Loco?
a) | 20T 20T
b) | 18.5T 18.5T
c) | 2251 22,51
d) |21.6T 21.6T
52. What is the specified vertical WAP7 T/l & Uehd died AR a1l e
clearance between axle box and F i FuiRa afésrea FhIT fFaar g2
bogie frame of WAP7 Loco
a) | 28-36 mm 28-36 mm
b) |25-38 mm 25-38 mm
c) |30-35 mm 30-35 mm
d) |30-38 mm 30-38 mm
53. A feeler gauge is used for e st &1 39A9] fog faw femam S
g?
a) | To judge the surface finish $r fefaer &1 3mFaa L F v
T between e B WW -
b) S , : .
c) | Checking radius of the job ST & BIE & s & fav
d) | Checking accuracy of the hole & T Grpar T T F AT
54, Current is collected from OHE to OHE & WAP7 &l & #{c faraeh eail
WAP7 Loco through ured fhar ST g2 '
2)_| Pantograph s
b) | Transformer SRR
c) |vcB VCB
d) | None of the above SAH ¥ I Aol
55. Feed pipe pressure of air brake WAP7 diel # TR 8% @A & ®I5 95y
system is maintained at -------- in | & a1 - W FATT I@T AT gl
WAP7 loco.
a) 6.0 Kg/cm?
b) |65 Kglcm?
c) | 5.5 Kglcm? 5.5 Kg/cm?
d) | 7.0 Kg/cm? 7.0 Kg/cm? ,
56. | What is the KVA rating of main WAP7 ST & H&T giama $ KVA
transformer of WAP7 Loco? YT T g7
a) | 7000 7000
b) | 7775 7775
c) | 6500 6500
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d) | 7500 7500

57. WAP7 Loco is equipped with - WAP7 S1aY & Reder &1 aiea o9t 21d
no. of Bétiefy Box: g2

a) |2 2
b) |1 1
c) |4 4
d |3 3
58. The wheel dia variation on same T g1 el a¥ gfgai &1 I f@esar
bogie is permitted up to -- mm ____ ®h ae At 8
a) |2 2
b) | 1 1
C) 4 4
d | 3 3 .
59. SFC of a Diesel Loco is SroTel Aol &7 SFC fore ghg & #ATUT STar
measured in which term? g7
a) | liters/GTKm MeTUGTKm >
b) | fiters/100GTKm o0 TKm
c) | liters/10GTKm AT/ 10GTKm
d) | liters/1000GTKm AT/ 1000GTKm _

60. Engine configuration of diesel PLW garr faffa 8-ufgar DETC/US &
engine in 8-Wheeler DETC/US, BT ST T DITeHIRAT FAT 72
being manufactured at PLW is: -

a) | 1x640HP 1x640HP
b) | 2x340HP 2x340HP
c) | 2x500HP 2x500HP
d) | 1x600HP 1x600HP

61. Maximum permissible speed of 8- | PLW garr f@ffia 8-afgam DETC/US &
Wheeler DETC/US, being Iftehca 3rgAd Iifa @41 82
manufactured at PLW i‘s:‘

a) | 100KMPH 100KMPH
b) | 120KMPH 120KMPH
c) | 110KMPH

| d) | 130KMPH 130KMPH

62. By which valve/valves manually A9 dled & HIFH F I W P
brake release is possible, if not aTed/dledl SNl AT &7 § seh Refrst
possible by A9 valve in? THa g2

a) | C2 relay valve C2 N dreq
b) | SA9 valve SA9 aread




)

c) Distrigikeﬁ valve fBedtegex area
d) | All of the above 3UAFT A
63. How many types of cables are WAP7/WAGY &I g8 & @& & gRie
used during manufacturing of forder wht T el & YT fHaT Fran
WAP7/WAGY loco harness? g7
a) |20 20
b) |22 22
c) |24 24
d) |23 23
64. Type of connectors used during T.M. #8X gfd IR A FHT 3940
prépérihg the T.M. sensor fhT ST It PAFEX HT YHR AT 67
harnessés:
3 o 3ﬁ¢5 =
b) |5 pin 5 Met ]
c) |3 pin 3 a1
d) | None of the above IRFdT & & FS Aol
65. At what value gear case (bogie) R &g (@9) Seca M12x30 & fhrasi
bolts M12x30 are tightened? <idh G HAT ATl 82 »
a) | 80Nm 80Nm
b) | 85Nm 85Nm
c) | 9ONm 90Nm
d) | 95Nm 95Nm
66. At what value wheel set guide gl AT IMSS dlecd (M24x300) &1 fohdsir
bolts (M24x300) are tightened? Tieh 9T FHAT AT 87
a) | 660 Nm 660 Nm
b) | 665 Nm 665 Nm
c) | 670 Nm 670 Nm
d) | 675 Nm 675 Nm
67. What is the minimum Breakdown | PLW & I@x@mE f6T 5 i WAGY/WAP7
Voltage (BDV) of main transformer | @it & #&a AT & dol &1 o geAcdH
oil in WAG9/WAP7 locos being ShsT3+T dlecat (BDV) T g2
maintained at PLW?
a) | 55 55
b) | 60
o |70
d) |50
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68. Name of the sealant compound WAP7/WAGQ dlie! & &d 3l O #let &
used for sealing the roof of TIIT 39T fFU Fe arel Hidie $938 1
WAP7/WAGS locos A1 F=1T 2

a) | Sikaflex grade 221 Sikaflex 35 221
b) | Sikaflex grade 220 Sikaflex 35 220
c) | Sikaflex grade 222 Sikaflex 98 222
d) | Sikaflex grade 224 Sikaflex 95 224

69. What is the buffer height of PLW # &R@rE f6u S ¢ WAP/WAGY
WAP/WAGY Locos being ARl T T FATS FAT g2
maintained in PLW?

a) |. 1(}1 110 W , EE
b) | 1090 to 1105 mm 1090 & 1105 &= -
c) | 1105 mm 1105 f&eT

d) | 1085 mm 1085 fAHAT

70. How many liters of Transformer WAP7/WAGY @1l & HE&T TH®RR A
oil is filled in the main Transformer | fhcr deX TEBER A KT ST &2
of WAP7/WAG9 Locos?

a) | 1900 litres 1900 litres
b) | 2000 litres 2000 litres
c) | 1800 litres 1800 litres
d) 2100 litres 2100 litres

QUESTIONS FOR DETC (from 71 to 127)

71. The Torquing value of Engine gotal A3TET Sl & clfcheT AT 4T 872
Mounting Bolt is:
a) |520 Lb ft 520 Lb ft
b) |525 Lb fi 525 Lb ft
c) |540 Lb ft 540 Lb ft
d) | None of these AN A HIg AT
72. How many hydraulic filters are DETC # fordar gsgifers fheey 3uaier
used in DETC? fpT ST 2
a) |1 1
b) |2
c) |3 3
d | 4 4
73. How many water separators are DETC & fohdel arex AMeX 39A1er fhu
used in DETC? ST 87
a) |1 1

2




(<)

3

3

4

4

74.

How many DG Sets are placed in
DETC? ”

DETC & fordst DG @¥c oMU v g2

AW N =

75. DETC Engine works on which DETC §ai=1 forq T WX &I Hdl g7
cycle?
Rankine Cycle et T
Diesel cycle STl TH
Otto cycle e 9%
None of these $TH U HIS Aol

76. Power rating of Auxiliary alternator | 3ifFaeRT 3feciaieX &1 drax Ifeer &ar g2
is:
6 KW 6 KW
8 KW .
6 KVA 6 KVA
8 KVA 8 KVA
77. Auxiliary alternator charges the ifFFell Jeetaier fF Sl & arst &
battery of: g? '
24 V 24 V
Both a & b alr a 3 b
None of these Sofdl q HIS o8l
78. How many air compressors are DETC # fardet TR HUa &1 Aaeqehdl
required in DETC? gidr 872
1 1
3
4
79. Hydraulic tank is fitted in:
a) lns:d@thé L
b Under slung
) | Cab - 1
d Cab - 2
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80. How many Power Rectifiers are DETC # fohdet raR IFeHRR oene A
placed in DETC? §?
a) |1 1
b) |2 2
c) |3 3
d |4 4
81. Ideal RPM of Engine in DETC is: | DETC H 3oiaT &7 3s3aar RPM a7 &7
a) |7 % 700 pm
b) 750 rpm 750 rpm
c) 800 rpm 800 rpm
d) 850 rpm 850 rpm
82. The Purpose of Pantograph in DETC # U2, &T.3652 &7 g7
DETC is:
a) | Check the Level of 25 KV Cable | 25 KV &l &1 TaX St
b) | Provide the power to run DETC DETC & Talle & ToIT aFd weiel el
c) |Both a &b gl a AR b -
d) | None of these g1 H IS AR
83. How many HT Sensors are used DETC # fhdet HT & 39319 fhw S
in DETC? ' &?
a |1 1
b) |2 2
c) |3 3
d) |4 4
84. How is the Fan Motor of DETC DETC &7 el HIET $8 FdTold gIar 872
driven?
a) | Belt Drive de¢ 38d
b) | Generator Drive STeeX gIed
c) | Hydraulic Drive
d) | Electric Drive solfded grEa
85. The Pin used in Bogie body wire | d1 &g ar—X Au # 3u@ier faar sia arelm
rope is: O &7 §2
a) | Cotter
b) | Knuckle el
c) |Botha &b gl a 3R b
d) | None of these 3AH A HIS AT
86. Battery Box charger is used for the | & sigq TR fha Sc@f & fow 3939
battery of: fopar sirar g2
24V 24v




b) | 110V 110V
c) | Botha&hb g a 3R b
d) | None of these TH T PIS 6T
87. How many After coolers are fited | DETC # fadel 3eX %o fhe fohw v
in DETC? &
a) |1 1
b) |2 2
o |3 3
d) |4 4
88. Alternator and Engine are ectaeY iR g9 fRad o3 el 87
cdhnééted by:
a) | Carbon Shaft FIdT ATFE
b) | Screw Coupling e ico
d) | None of these AT O FIg AGI
89. After Cooler is mounted at: 3P FHoR Hgl W AT AT 872
a) | On the Roof od W
b) | Inside the Shell A &F eI .
d) | None of these SAH U PIS 6T
90. 3" MS Pipe Line in DETC'is used | DETC & 3" MS Ulgq &g« &I 39T
for: g fow foear Smar 87
a) | Hydraulic System
b) | Air System
C) Cooiam
d) | Exhaust
91. Water Tank is placed at:
b) | Cab -1
c) |Cab -2
d) on Roof
92. The capacity of Diesel tank of DG | 35Tl && & &1 T &:
Set is:
a) ?2 {"’s
b) 75 Ltrs. 75 Ltrs.
c) |78 Ltrs. 78 Ltrs.
d) 80 Ltrs 80 Ltrs
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93. The System used for operating the | giEsitard faftresr 3 WA wewiar &
Hydraulic lifting and Swelling Fafd &t & AT 39ghr & J arelr
platform |s JuTTeT §:

b) | Pneumatic System SRR qoTTelT
c) | Electric System Solfdea yoTel
d) | None of these S8 U BIS AT
94. The Max. Lifting height of platform | colewial $r ftsaa faftesr 38 &:
is:
b) | 6240mm 6240mm
c) | 8010 mm. 8010 mm.
d) | None of these gAH A HIg Al

95. The Buffer height of DETC from ¢F AT F ASEAT FT IE FAS &

Track Gauge is:
a) | 1100 mm. 1100 mm. v
b) | 1105 mm 1105 mm
c) | 1110 mm. 1110 mm.
1115 mm 1115 mm
d)
96. The Buffer length of DETC from qT & DETC Hr g9 a5 §:
Shell is:
a) | 600 mm. 600 mm.
b) | 612 mm 612 mm
© | 613 mm. 613 mm.
d) | None of these SAH U HIS AT
97. The max. Angle of rotation of TITHIA $ IFAA T HE I &
platform is:

a) |90° 90°

b) | 180°

c) |270° 270°

d) | 360° 360°
98. The Bacteria used in Lavatory is: | dfesd & 3T g arelm SFIRAT &:

'|a) | Anerobic TR

b) | Aerobic s

c)- |Botha &b gt a 3R b

d) | None of these STH A BIS AGl
99. The Torquing value of Centre Pivot

is:

Hex fae &1 cifder 77 &




e

a) |520 Lb ft 520 Lb ft
b) | 530 Lb ft 530 Lb ft
c) | 540 Lb ft 540 Lb ft
d) | 550 Lb ft 550 Lb ft
100 The Max. Speed of DETC is: DETC & f&de a1fa &:
a) | 100 km/h 100 fpett/aer
b) | 110 kmih 110 Rrafyeer
c) |90 km/h 90 fpeft/aer
d) | None of these SIH § Fg @I
101 The Capacity of WRA Tank is: WRA & &I &3 §:
a) |80 Ltrs. 80 eiex
b) |90 Ltrs. 90 X
c) | 100 Lrs. 100 #rex
d) | None of these SAH W PIS Aer

102. How many RRUs are fitted in DETC

Option tDescription
S
b
o) 3
d) 4 |

a) 1 ‘
¢ : —
0) 3

d) 4 .

103. What is the pressure setting after cranking
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Option || Description

a) 210 bar

b) 200 bar

c) 190 bar |
None of

d) these

103. $feher & 1€ garg Afeer fraer gidr &

st § A
q) g

104. What is the power required during full load condition

Option Description
a) 316 KW
416 KW
216

None of these

104. Q7 wirs Ut & it Reaielt afba 1 araashar g &

P—
a)
b
c)
e @
d) TeT

105. How many traction motors are provided in DETC



Option Description
a) 1
b) 2
90 B ]
o a0

a) 1 |
S

C) 3

d) 4

~ '106. The rotation of the platform is done with the motor by

Option Description.
a) Pulley System
b) _|Gear System
C) Chain System

7 d) N None of these

106. Tole ®id $T gATT $T Al SarT FEd fhar S &

a) oo Rreew
c) U RweH
S § g

107. How many alternators are used in DETC

Description

Option

a)

b)




AT
bbb

Option Description

vc) 3
d) 4

107. DETC # fdey 3feeisied 39T fhw v §

fawea faazor
a) 1
b) 2
c) 3
d) 4

~ 108. Power rectifier is used in DETC for the component

Option Description
a) Alters P
Aux.

b) alternator
C) Both a & b
d) None of these

108. DETC # 9iar {FewiRX & 394191 fFH FiFdaee & foav faar siar §

P—

a)

b)

c) &1t (a 3RDb)
. SH q g
) TRl

109. What is the function of a rectifier

Option Description
Convert AC to
DC

a)




Option Description
~ convert bC 10 |
b) AC
o [pothasb |
;I) | None of these

109. IFCHFRR &7 1 FAT &

DC & AC
b) Aacele
c) gt (a 3RDb)
d) $H /g A

110. What is the horsepower of ONE engine

Option Description
a) |316 1P
by 326 HP
o |wowe |
d)

110. T& E30eT &Y U AT §

fweT faor
a) {316 HP
b) |26 HP
o) 3s0 P
) leso P

111. 1 Horse Power is equal to

Option

Description

N

700 KW

(i)



Option Description
b)
C) 720 KW
d) 756 KW

ICETR

AT
)

112. Resistor panel fitted inside the DETC

Option

True

112 {{TeT U57aT DETC & 31T fbe fopam arar &

:113. Radiator mounted on the roof of DETC

Option

. |False

113 DETC #1 o W W3wex Aes g &

174



114. Is one radiator sufficient for cooling both engines of DETC

[

‘ True t
|

l Félée

At T

115. Hydraulic panel mounting under slung

Option

|
True |

115 gISgltale Yo 3ST-FoldT W AT3CS ¢

116. Max RPM of Diesel Engine is 1600 in DETC

! Option

=

’ True

|
i
Faise |




AT
hosiky
117. Is Engine mounted under slung of DETC

Option

True

False

117 &1 3917 DETC & 3iST-Todl WX HAT3CS &

118. After Cooler mounted under slung in the DETC

~

Option

False

118 DETC # 31X Foll 3HST-Foldl W A §

faavor

[Teld

119. WRA tank fitted inside the DETC

Option§

120. Two ventilators are provided for veniilation of the DETC>



AT

)

120 DETC &' dfeerea & fov ar dfeeet veer fpw s &

121. Control Cubicle pump is placed in the driver cabin of DETC

Option

False

121 shglel #gfeehel 99 DETC & 3IgaX Sidel & @1 917 §

122. Auxiliary Alternator is a brushless motor

Option

True |

False

122 3iifegadl 3ecy AT T& FUA Al §

= —|

faeq

K \

123. The Capacity of Fuel tank DETC is:



Option Description
a) 1200 Ltrs
b)  [1300 Ltrs
o) [1400 Lurs
d)  |l1500 Ltrs
IGEEL

1500 ofex

124. The grade of Hydraulic oil used in DETC is:

Option|| Description
o
b) |60
o |8
d |70

124 DETC & 392er &Y oY arel) grssias aa 9 93 &:

|
|

fawew| faor ‘
5)__@7
by 60
o) |e8
d |70 J

—

Option|| Descriptio

n

a) 40 itrs
b) 50 lItrs

~ 125. The capacity of normal power pack DETC is:i




Option

Description
© 60 ltrs
9 70 ltrs

125 WIROT 91a} % DETC & &7#ar &

i
b) i
c) 2 e
d) }0 =

MTd
B

~ 126. The unit of power rating of DG set is:

Option|| Description
a) [KVA
_b)
None of
9 above

126 DG AT &1 gra¥ I fir sars &

P —
a)  [KVA
by [Kw
5 I
AH q B
) T

(170



} Option|| Description

d) above

None of

|

127 DETC & 39311 $I S alell 899 ool dT 33 &

Qheq|| fAaor

a) [|15W-40

b) [17w-40

o 14w-50
gIH O HS

d) oTer

128. What is the full form of PCO?

Option Description

a) |[Public Call Office | .
b)  |Produ

C) Persodhﬂé‘l Communication Service

d)  |INone of above

128 PCO &1 QU #TH 4T g7

;129. Colour Code for Non-conforming product is:

< |Option A Description
a) |Green
o _
o |vellow
a9 lBue

LIGES]
PLW



129 AT FHePIHT NSFe & fAT T Hig &

130. PL No. stands for how many digits?

Option Description

a) 11

b) 10

C) |§

d |12 ) y

130 PL No. fFdet 3% &7 g1aT g2

AFeq faaor
a) 11
b) |10 ]
) lg
) 12

3131. Full form of HRMS:

Option Description

an Resources Manager

) m
Hvumé—rTRight Management
b) ' System
) _Human Managemevnt“S;/stem

d) None of Above

131 HRMS &1 QX1 o1& 41 8?2



ﬁ#}q IGEE

a) 7 ‘?7 JHA iialﬁ”ﬁﬁlar He ﬁi’{%ﬁ

b) TgHAA 3T Haorde fAveA

o | tte rem

Q!
~—

e @ s al

132. What is the main purpose of File?

Description

b$ Joining of Metal

C) Measurement of metal

d) None of Above

d) e A B

133. What is the purpose of Drill?

Option Description

a) Cutting 6f material

b)  |Joining of material

) |Making hole in metal |
EI) None of above

' 1'33133{${3a?euw%?

e Freror 1
a) e Fea ‘
b e siser |

P

(e
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134. What is the purpose of die?

Option Description
a) Making hole 'in metal
C) Metal cutting

d  [None of Above

HTq rel

gt & g et |

135. What is the purpose of Bench-vice?

Option

Description

a)

Cutting of material

b) hold the Job
Measurement of

C) Job

d) None of Above

135 dU-aTSw & 38T FAT B2




136. What is the material of hand file?

Option Description

;)WW Crase hardened Mild steel
b)  |High steel |
d)ﬁ Low carbon Steel

136 82 wiEd &1 FeRTd &1 &2

ICETt | favoT
a) & g5 mild &rer
b g

o e v @
d) AT e T

137. What is the Good conductor of Heat and Electricity? - -
Option Description

g) - Nickel ~-

b) ’

c) Chromium ) A

;j) Aluminium

138. Punches are used on job for —

Option Description

a) Punch Number |




AT
iy

Option Description

b)  |Punch Alphabets

C) Punch identification code

faavor
139. Mandrels can be termed as
Option Description
a) Gauge
b) Jig
c) Template
favor
' 140. Both sides of a flat bastard file have?
Option Description

a) Wavy teeth
b) teetr
C) WSingle cut teeth




‘ Option Description

rq) ﬁ\lo cut 7

d) S FHT TG

141. A hole with lower deviation as zero, is called

Description

b) |[Middle hole

C) Zero hole

d) Principle hole

141 159 ¢ # geTan fa=a = &, 30 &1 Fgl Sar &2

ICEal _ ICEE]
by |few e
o |omew
o |pRww o

142. The thickness of sheet metal is indicated by

—

Option Description
a) Number size
) [oaw

C) Standafd size

L :
d) None of the above




AT
O

142 fiT ATa & AR H HA AT ST 82

.
e
Py }
P

IGE T | aor

a) FNTHTQT:T

b) E‘Sf

C) HIeTeh ATl

d) sﬂﬁﬁﬁéaﬁr

143. Work safely means

Option - Description

a) Wear loose cloths

b) Use tools without wearing hand gloves

C) Keep the work piece loose on work table

d) cloths, hold the wo e in vice & use hand gloves

143 AT FH T F Adod §

ey | faavor

a) &Il 93 Tge

b) aaasawﬁfqgﬁﬁmﬂéwﬁaﬂmﬁ

o) FIT ¥ ¢S N FT T W AT B
I T, T TS A A A v

144. Indicate best position to hold the job in the vice while filing -

Option S——
a) Eye level e _
b) Shoulder level
d . ||Am level -

144 HEET FA TAT a5 F FT P Uhsa & o0 TIq 38T TAT HiT a1 &2

‘é) HE F TR W




Option Description
g)ivir Hardéning
b) Stress relieving
;:) / Tempering 7

146. The least count of a measuring instrument means

Option Description

b) | Maximum dimel;sion measured by instrument

c) XVerage of minimum - maximum dimension measured by instrument
d) ] Nonel -;)f abovéh

146mﬁmmﬁaﬁwmwwwﬁ

%@m-aﬁmmwaﬁmﬁwmm@a




AT
b

IGE Tl Raor

d) ST W HIS Tl

147. Which one of the following threads is used on mechanical jack

Optioni Description
a) 7 |
b
C) Buttress
d) BSF

ICE T GG

148. Try square is not used for -

Option Description
a) N
b) Checking squareness
C) Marking stralg_ht_llnes at 90° against an edge
d) Settings workpiece at 90°

148 ¢ wFarIY & 3997 fFad fav 78 frar smar &2

faweq | faaor
a .,
b) T A
0) e R & FR 900 WX e YW@IE A AT
d) AT FT 90° W AT FAT .

149. Leveling bolts are used for



o=

149 <Iafel T dice &1 39A9T fFas v fear srar £2

Option Descr;ption
:':17) | ﬂfﬁsﬂupporting {he Ioad for machrine : o
b) 7 Rigidityrof machine -
) |Level the Machine base / Adjusting the height of machine
d)  [None of the above D -

a) HfeT ¥ AT AT F7 FHIT

b) refer 1 FEeRaT
et 7 B

d) sﬂﬁ@raﬂéa@r

150. For cutting of steel, the following coolants are used -

Option , Description
a) Grease
b) Cutting oil

Lard moil

Kerosene oil

( —— e

ICETae] fazoT

a) BIIL;]

N EE:

d) FATAT 3T

151. Try square is used to check up angle -

Option. Description

a) 30°

by |4




AT
)

J

Description

|60-

o

151 TI$ TFARR &1 39N HOT H T & AU BFar Smar ¢ -

faweq faevor
a) 30° | |
by |45
C) 60°
d)
~ 152. A hammer with loose fitted handle will -
Option Description ]
a) Convey more leverage
b) Have easy swing |
C) Absorb shock
d |Fya |

faayor

Option Description

a) Ball bearing on the shaft

b) Tyre on the rail wheel |
c) Pulley with key onnthe shaft

d) Cart rim on the wooden wheel




153 Feafaf@a & & i o1 qE/gRRie fre & Fa 3oo1 oo ¥

‘/T{ }

faaxor

154. The root of ISO metric thread is

Option Description
a) Flat

b) Round

C) Sharp corner

d) None of the above
154 33 ug 3N AfH s A s §

Aoy fqazor
a) ol

b) |

c) drar

d) $TH @ IS T

155. Clearance between mating parts is measured by

Option Description
a), e _muge —
b.).___ ] M__
C) Go gauge
' ;j) _Dial gauge




~ ——=

@
N

c) ar AT

g'ra?»ra’lsr

156. Surface of tool steel is done through the following process

Option Description
a) Carburizing o 7
b) : Cyaniding
C) ; ]
d) Hardening B

156 T ¥l &1 A 1 ArAfaf@d wfsear & frar arar @

faazor
157. Fixture is used to
Option Description
a) Hold the wbrkpiec:e
b) Locate the workpiece
C) Hold and locate the workpiece
d) Neither holds nor locates the workpiece

b) g I & T A & faw

c) g& i @ gdhsa 3N VT & & fav




fd) W Hrmqméaﬂta?rwam% |

158. Jig & fixture is used to

Option Description
z;) Hold the V\;orkpiece

b) o Locaterthe workpiece 7
c) [ﬂaﬁ cat wo{kﬁiaca

d) Neither hofds nor locates the workpiece

158 31 3R fhereaR &1 39T fhas T fomar ST §2

eq faaxor )

a) ||eFdw @ 9wy & R

)| e e 2 o
T ot 2 A

d) | Frmé‘rmm%afn;r TUA ST §

159. Which type of fire extinguishers aré recommended for use in any type of fire

Option | Description

a) BC type

ICEa= Ravor
a) & @R "‘
S P i
o o@ @ wwr '
PO i

160. Fire extinguisher -------- type is used nowadays -




AT
N

Option Description
a) ||Liquid
by  |cas
) N »
d) Mist il

160 3ireiehel e YRR & JfSetemre F1 U far S §7

faxor

161. A tripod is a device, which consists of

Option

Description

One leg

Two legs

Four legs

161 2=l

IR W

%162. Surface flatness & squareness is checked by

Optionl

Description

a)

Slip gauge

b)

Bevel gauge




' a) " 30°

e

Description

|
‘C) Try square
id) EVernier height gauge

162 Adg &I FHdTAAT iR TFAag A I Fad i Far §2

a)  |Rewaw

b) Sae AT

163. Mallet is made of?

Option Description

d) Cast iron

163 #Hole frad &1 B1ar 82

SPTEC AL

164. Angle of V in V-block is -

Option Description

by  [60°

d) 120°




KT d
hoeiky

164 dr-safes 7 & 1 For § -

— faeazor

a) 30° 7
b) 60°

d) 120°

165. One among the following is a temporary joint

Option Description
a) Welding joint |
b) Riveted joint
) Soldered joint
d  |press fit joint

_

166. A drilled hole after tapping is called

opton Description
a) Core hole
b) Chain hole

o) Ta V
d) . |IReamed hole ]

166 SfIer & ae T fya fRam g3m gl Fm Farar 7

Oy :

2 ot A




SN

faerea faaqoT
b) e glel
c) bz B
d) {Fs gt
167. While grinding one must use -
Option Description
a) Mask
b) Dark glaés screen
167 AEfEe A TAT frg & 3TN HEAT AMGT?
faemeq faavor
a) HIED
b) 3T ToIrd Bhie
Option Description
a) , ‘E’:afeworkmg load N
b) Standard working load
C) Side working load
d) Stable working load
168 S.W.L. &1 FIT AdAT &7
faweq faavor
a) A aféer ars
b) FUsE gfhar A8
c) qrss afper dis




AT
bl

d) reao afdher Al | o
169. Forging is done when the metal is in
Option Description
a) Liquid condition
b) =
C) Elastic condition
d) None of the above

faavor

c) soiees eafa
d) SAH ¥ P ALT
170. Fire is a combination of?

Option Description
a) Fuel, light and nitrogen
b) Fuel, heat and carbon dioxide
c) ’ at and oxygen
d) Fuel, Ilght and oxygen

171. The purpose of normalizing steel is to



' uy

Option Description
a) Improve machinability
b) [Remove induced stresses

Soften the steel

Increase the toughness and reduce brittleness

171 AeomsfSior ¥ &1 3e22T &

[GExot faagor
a) afT # AgaR T
) = ———
c) TS FT A FLAT
d) HORAT FGlAT 3R HIRAT HH HIAT
172. A rough file is used?
Option Description
a) On irregular job
D) To reduce the metal r
C) On wood
d) If smooth file is not available
172 T% WISa &1 39997 fhad AT By oar §7
faemea faavor
a) FAHAT a9
c) THS W
d) IR EHY BT 3UAY AaT g
_173. Micrometer works on the principle of
t Option Description
’a) Screw
‘b) Bolt




bl

Option Description

C) Stud

faweq faavor

174. The chisel used to cut keyways is

Option Description *
a) Diamond point chisel ]
b) Round nose chisel
C) Flat chisel
d) Cape chisel

ICET] - faaor

1175. Interchangeability is ensured in -

Option Description

a) Repairing of parts

ss_production

c) Single piece production

d) All the above




175 FeTdfafeordT t giafad frar S & -

176. Following is the solid carburizing material

Option Description
by  |Petrol
C) B Ammonia
d)ﬁ o W@rosene

176 Reafaf@a # @ 39 FEUsioRr el §

177. The body of a flat chisel is usually made in the shape of

Option Description
a) | Rectangular
b) Square
c _l;|exagonal
d) | Aziﬁagogal

177 woe draa &1 R aEead: e 3eR 7 T g 82

[P [ P




M’ld

178. Mention equipment to check the size of shaft diameter repeatedly during turning

Option B Description
a) Template N
b) [Srey
C) Dial test indicator and slip gauges
d) Tool room microscope

178 feter & SRIeT A0 & &A1 & MR H IR-I1 i o & fAT 3uaor qqw

179. Mention type of bushes used in a drill jig to drill different diameters?

Option Sw———
a) Press fit bushes
> Removable slip bushes
c) Fixed removable bushes
d) Liner bushes

IGE ) Qagor

a) Q’Hﬁ»—ca*%r

c) fﬁ»‘cﬂ%’ ﬁ?ﬂﬁaﬁ gl '




d) e o

180. ISO : 14001 pertain to

Option Description

a) Safety

ICET favoT

181. One inch equals to in mm

Option Description
&)
b) |2.54 mm
C) 30.6 | mm B
d) 24.9 mm

181 T& 3T & &R fhdem e e grar §

a) 25.4 fomh
b) 2.54 s
c) _ |06 B
d) 4.9

182. I1ISO: 9001 pertain to



AT
)

Option Description
a) E\Qifdnment |
;)ﬁ—“ _

C) Energy
d) Safety

182. 1ISO: 9001 frad Fafea &

faazor
183. First Train in India started in the year
Option : Description
b) 14 May 1856
<) 13 March 1857
d) 27 April 1853
183. s F g ¢ Fa I gS o
a) 16 3141853
b) 14 7S 1856
c) 13 A 1857
id) 27 3% 1853

;184. How many days of LHAP can be accumulated to an employee in his service life?

Optionv Description

a) 300 days

b) - 450 days




600 days

Description

|
|
o)
|
|

184 TS HHAART AT Va7 Shad & Faar &t LHAP (3raehrer) &l STAT X dahdle?

faavor
185. Hammer is classified
Option Description
a) As per their hold and weight
b) As per their frame’s shape and weight
C)
d) As per their handle’s length .

185 ¢FR #1 &y qefiepa R S &

a) 37eh gles AN aolel & HJAR
bb)} 7% BE & HHR AR aoTT & IeTAR
d) 3% g5 SES & ITHAR

186. Slot of Angle Plate is used for

Option Description
"a") To hold the jgb straight
b) [To tight the bolt and nu
C) To reduce the weight
d) For Iiftingmby hook R




AT
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186 TdTel Tole &I Tdlle &l 39T 5 & v frar amar &

187. Number Punch is made of

Option Description

b) Mild Steel

C) Brass

d) Cast Iron

187 AR UT fFER &= @ &

ICE T faavor

188. Hack saw blade is classified by

Option Description

a) Length x Width

I ‘;,eng’t’h\ x Width x i

le) Length x Grade

d) . |[None of the Above

188 gHd! sl & H¥ Fefiehay fomam Srrem §




faazor
b)
c)
d)
189. Coolant is used for cooling the
Option Description
a) Machine

Option Description
a) — 3
_b) Bed
6) Head StoE:k
E)_’ 1 Xﬁgle Plat;_

190. o 3 RfT & aker, B a1 Ry & amer osr o ¥

e

Beeq |

farawor
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I|

- )

d) e e

|

191. Center used for Tail stock is called

Option Description
a) Eead ©
b) Spindle center
C) _I];e center -
d) Main‘ center

fashea faazor
a)
b) fedger dex
c) ST HX - |
d) AT FX

192. Pneumatic Grinder is used for

Option Description
a) Clamping the Job
b) Tool Grinding
©) mm_@ng the Job
d) Torque the Job

192 diAfed IEST & 39ANT fRE & AU R siar §

fawea || faavor

a) |t @ w¥ ¥ R

b) oo asfEa & fow

d) St @ ol @ & T S

193. Internal grinder is for



Description
)
b) Cutter surface
7c)w ] Taper Surrface
d) All of above

193 geX=Tal ATSsT fohash ToT giar &

faavor
~ 194. Pneumatic Grinder runs with the help of
Option , Description i
a) Mechanical system
b) Hydraulic system
C) Electric circuit
0 |Compressed An
faraor
. 195. V-Block is used for which type of Job
! Option Description

J a) Rectangui;r_ _Job

LGk
DLW



Option Description
a) Internal surface
b) Cutter surface
c) Taper Surface
d) All of above
193 Ze3d UTE SR fhaas feu grar @
fdbe SRRl
a) 3{idRe Tdg
b) h R Hdg
<) CIR g
d) SR gHt
194. Pneumatic Grinder runs with the help of
Option Description
a) Mechanical system
b) Hydraulic system
c) Electric circuit
d) Compressed Air
194 U 1SS ford o Aeg Y Iadi g
fdbey [CERl
a) BlIECRLIG]
b) EESISERIIS]
<) Scifde® dloe
d) guifed arg

195. V-Block is used for which type of Job

Option Description
a) Rectangular Job
b) Cylindrical Job
) Ring size of Job
d) All type of Job
195 G)-&1dh b UHR & SId & forT SudT forert ST @
fddbey fqavor
a) JATHR S
b) ISISISEISISIC]
o) (377 SR BT Sl
d) G UHR & olld

196. Soft hammer is not made of



Option Description
a) Brass
b) Wood
c) Lead
d) High carbon steel
196 1UC R forad &1 151 1T §
fddbey fqaRur
a) EISs
b) SEZSI
c) RIS
d) HECICERUN]
197. Spindle of Bench-Vice having threads
Option Description
a) V-Thread
b) Square Thread
c) Buttress Thread
d) Single Thread
197 ST-aT & RISA R P IS BId &
fddbed fqaRur
a) IR
b) IR U
) 9¢H 98
d) BUGRS
198. Dial test indicator used for
Option Description
a) Flatness
b) Taper
c) Run out
d) All of above

198 ST ¢¥¢ 3fgher fHaed fow Iuan frarsrar g

famed faaror
a) EREER]
b) TR
o) 3 33T
d) SR g4t




199 Hi%e 23 T & e IR Aol o & AT HaT a1 TWaw 39@T HY

g cECh
PLW

197 Jo-ais® & fedsar w9 & 93 g &
ey faaRor
a) dr-23
DI i
c) e IS
d) e 95
198. Dial test indicator used for
Option Description
a) Flatness
b) Taper
Run out
IGETat faaor
a) FolcAd
b) A
C) S
d)
199. To tighten and loosen a Socket head screw use spanneri
Option Description
a) Allen Key |
' b )_ FIatSpan;er —
c) lRin’g Spanner
d) Plier



faraor
1200. Which is not a marking material
Option Description
a) Chalk Powder
b) Cellulose Varnish
c) Paint 7
d) Pashian Blew
200 3AH | Hied AT Uk HAlfcheT HFHIM TGN &
fasmea faavor
a) leh Y138
b) [eleiter arfeter
C) EE’
d) aif@ae s
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1. What is being measured using the voltmeter?
(a) Current in the circuit

(b) Voltage in the circuit

(c) The voltage across the resistor

(d) The resistance offered by the resistor
Correct Answer: Option (C)

aleeHIex &1 3UANT FIF FAT ATIT AT @ ¢7?
() IRTT 7 a1

(@) a9y # alecst

@) WA & IR et

() YRATEX @RI YarT famam I gfadey

&Y 3 [aFweu (1)

2. What is the relationship between resistance and current?
(@) They are directly related to each other

(b) They are inversely related to each other

(c) The resistance has a greater magnitude than the current
(d) The current has a greater magnitude than the resistance
Correct Answer: Option (b) |
gferir 3k arr & & F g@aw 2

(%) ¥ @y ¥ Wem e W

(@) ¥ wHgEy ¥ fawdia d@ay w@a €

@M gfaer i afamor arr & 30 g @

() arT Fr gferor gfay & 3R g ¢

g 3 fdweu (@)

3. A non-metal used to preserve food material is:

(a) Carbon

(b) Phosphorus

(c) Sulphur

(d) Nitrogen

Correct Answer: Option (d)

wieT vardt F WA WS F R FRAE T A o I §
() FraeT

) TR

(1) TR
(&) AT
8 I fAFeT (9)
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4. The most abundant metal in the earth’s crust is
(a) lron

(b) Aluminium

(c) Calcium

(d) Sodium ‘

Answer: b

T # U A FaR A F o o areh g
() e

(@) vegHIfAIH

() FHfewras

(7) afsaw

Answer (@)

5. The poorest conductor of heat among metals is
(a) Lead

(b) Mercury

(c) Calcium

(d) Sodium

Answer: a

Ut A WER @O a9 qTew §
() drar

(@) 9T

(1) Ffors

() afsas

Answer (&)

6. Which property of metals is used for making bells and strings of musical instruments
like Sitar and Violin?

(a) Sonorousness

(b) Malleability

(c) Ductility

. (d) Conductivity

~ Answer: a

uT3T. A1 Fla W Rwar F1 39 Gk sk Rar, arafae R aadst ¥ ar a@ e F R
(F) CaqTcHSAT

(@) degar

CHIEIPIGE I

(") dTelehar

Answer: (%)



7. The process in which a carbonate ore is heated strongly in the absence of air to
convert it into metal oxide is called

(a) Roasting

(b) Reduction

(c) Calcination

(d) Smelting

Answer: ¢

o afvar # oF FEle 3FF F g JiFans A e & v R g F Sk @ w R
ST §, 3@ F1 Fed §? »
() ST |
(@) IA9ag=T

(3N) HedAT

(@) Mo

Answer: (1)

8. Galvanisation is a method of protecting iron from rusting by coating with a thin layer of
(a) Gallium

(b) Aluminium

(c) Zinc

(d) Silver

Answer: ¢

deaaEaeeT A F S ¥ =@ 7 TE R §, O 5@ F gqel wa @ Fie fFar S
(&) AfoTs

(@) TegHIiAgH

(M S

(&) I

Answer: (31)

9. Which gas is needed for photosynthesis?

(a) Oxygen

(b) Carbon dioxide

(c) Hydrogen

(d) Carbon monoxide

" Correct Answer: (b) Carbon dioxide

v §eAver & faw Fw dw i marawar @i #7
(@) 3itereister

(@) HTeT SIFHFATSS

QEESEL]
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10. What is the substance that makes leaves look green?

(a) Leaf

(b) Palisade

(c) Chlorophyill

(d) Chloroplasts

Correct Answer: (c) Chlorophyli

gferdt Y &0 F aren gant w=w 2

(F) gar

(@) WS | | e |
(31) FARIer -
() FARICTRCH

W 3T (1) FARIRper

»

12. What is the primary function of the ozone layer in the Earth's atmosphere?
(@) To provide oxygen for terrestrial life

(b) To absorb and scatter solar ultraviolet light

(c) To regulate the Earth’s temperature

(d) To act as a shield against meteorites

Correct Answer: (b) To absorb and scatter solar ultraviolet light
T F agHE A T W AT I T §2

(F) TNT ShaeT & AT siterdisreT vere a=ar

(@) TR AT gohrer B 3T 3 ANaer

(M) YA & AAA F AT FeT

(&) 3eaIUst & f&F T o & §7 & S T

A I (@) AN R g B @i 3k e

13. What is the next prime number after 57
(a) 6

(b) 7

(©) 9

(d) 11

Correét Answer: (b) 7

5 & AT HIAT HHTST wWEAT FieT W B2

(¥) 6

@) 7

@M 9
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14. 10 is a natural number. True or False?
Answer: True

10 U% WIpfas §EAT §1 FE AT ASA?

I e

15. The largest 4-digit number is:
Answer: 9999

AR T3 4-3PT TWETAT §:

FaT 9999

16. The smallest 4-digit number is:
Answer: 1000

FEY QT 4-FPT TEAT ¢

3« 1000

17. The square of 8 is equal to:
Answer: 64

82=8x8 =64

8 FT TG fhadT T &2

I 64

82 =8 x8 =64

18. The square root of 5 is:
Answer: 2.23

5 &1 A FAT §?

I 2.23

19. 3 is a perfect square. True or False?
Answer: False

3 % QU g §1 WE AT AAA?

3T dTeld -

20. Cube of 5 is equal to:
Answer: 125

52 =5x5x5=125

5 & Ul fhder 87
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3T 125
52=5x5x5 =125

21. Cube root of 1331 is:
Answer: 11

1331 = 11 x 11 x 11 = 113
1331 &1 aaq{e &1 §?

3 11 '

1331 = 11 x 11 x 11 = 113

22. 27 is a perfect cube. True or False?
Answer: True '
27 =3 x3 x 3=

27 ©F qoF U §1 W AT TAA?
34T g

23. What is this property of metals whose surface is shiny called?
(a) Metallic luster

(b) Half brightness

(c) Both (a) and (b)

(d) None of these

» (a) Metallic luster

e urgat #r gag TR Q1 § 3THT Ig IOT FAT FgaArar 37
(%) enfcas aHS

(@) el A

(m a=t (F) IR (@)

(o) g7 & S

> (F) Ufcad THS

26. What is the surface of pure metal like?
(a) Shiny

(b) Colorful

(c) Thick

(d) Thin

» (a) Shiny

ey U A Faw A @l B2

() THPCR

(@) Gt

(31) et
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(&) gdelr
> (F) THFER

27. What is that property of metals called in which thin sheets are made by beating
metals?

(a) Metallic glow

(b) Maileability

(c) Accuracy

(d) None of these

» (b) Malleability

urgat & 3@ o B FAT Fgd § e urgHt B deaw vadh ey ag el §2
(%) aifcas THA®

(@) raraaedar

(31) F&rhar

(@) 37 § FIg T

> (@) raraatdan

28. What is the property of drawing metal into a thin wire called?
(a) Ductility , ' .
(b) Carbon

(c) Accuracy

(d) Zinc

» (a) Ductility

Ul F T arx # @R FT IOT FAT FgArar §?

(F) deIcr

(@) Pt

(31) G&rehar

() 5=

» (&) degdr

29. Which metal has the highest hardness?
(a) Silver

(b) Gold

(c) Pearl

- (d) Diamond

» (d) Diamond

R uTg #r FORaT Ta A ¥

(a) =iey

(@) |

(31) Al
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30. What are the metals which make sound when they hit a hard surface?

(a) Sonorous

(b) Metallic

(c) Non-metallic

(d) None of these

» (a) Sonorous

ammmﬁﬁwmm#mﬁwmﬁmmﬁ

(F) AR

(@) enfcas .o ,
() renfaas | -
() 378 & 1S il

> (F) SR

31. How many non-metals are there in comparison to metals?
(a) More

(b) Less

(c) Equal

(d) Very much

» (b) Less

Wt HY Jerer & et A wEAr P 32
(@) 3¥F

(@) &H

(M) ST

() g ST

> (F) &H

32. Which is the hardest natural substance that has the highest melting point and boiling
point? -
(a) Diamond

~(b) Gold

(c) Silver.

(d) Pearl

» (a) Diamond '

. WaH FON TfaF e Bl 7 ¥ Bww qowiw 3k FauAiE w@d wfw @ar 32

(&) &

(@) |

(3T) T
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33. Which are the hard metals that can be easily cut with a knife?
(a) Lithium

(b) Sodium

(c) Potassium

~ (d) All of the above

» (d) All of the above

¥ @ & FoR ugy § B T1g § A & Frer o w87
CoRGIERE] '

(@) afzaA

(1) AREA

(a) 39T G

> () 3REFT asft

34. Graphite, which is a good conductor, is an allotrope of which non-metal?
(a) Coal
(b) Carbon ' | ~
(c) Silver
(d) Zinc
» (b) Carbon
AeEE, I T IroeT oS ¢, BFw g FET E?
(@) g
(@) Fret
(an) =y
(@) i
> (@) FEd
35.. Amalgam is an alloy of
(@) Copper and Tin
(b) Mercury
(c) Lead and Tin
(d) Copper and Zinc
Answer: b
o R g 37
(a) dreT 3R fea
(b) URT
(c) ¥ 3R feT
(d) areT 3R SEAT
Answer: b
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36. Which of the following triangles have the same side lengths?
e (a) Scalene
¢ (b) Isosceles
e (c) Equilateral
¢ (d) None of these
Answer: (c) Equilateral
frrafafda # & w17 @ Bt & sod o e #2
o (a) faww
« (b) WA
o (c) HFASA
o (d) 3TH @ FI$ R
I (C) HHAST

D

37. Area of an equilateral triangle with side length a is equal to:
e (a) (V3/2) * a
e (b) (N3/2) x &2 .
e (c) (V3/4) * a2
o (d) (N3/4) * a
Answer: (c) (V3/4) * a?
oM FaAT§ a AT FHIS NIYST FT &I freterm grom?
e (a) (V3/2) x a
e (b) (V3/2) * a?
e (c) (V3/4) % a?
o (d) (V3/4) * a
3aT: (C) (V3/4) + a2

38. Ankita types 540 words in half an hour. How many words can she type in 120
seconds?
e (a)3
e (b) 12
e (c) 36
e (d) 28
Answer: (c) 36
FHfPar 3T G & 540 ereg BT FA ¥ 120 VST A a7 fFax deg TEBT FT FHdT 87
e (a) 3 -
e (b) 12
e (c) 36
e (d) 28
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39. If the weight of 10 sheets of thick paper is 409, how many sheets of the same paperkj
would weigh 1700g7?

e (a) 42.5 sheets

e (b) 425 sheets

e (c) 325 sheets

e (d) 300 sheets
Answer: (b) 425 sheets
Ify 10 AR FErer A TR F T 40 TH §, @ 1700 TH 9 F v Fraeh @y g

e (a) 42,5 Tl

e (b) 425 =Y

e (c) 325 TEY

e (d) 300 T
3aT (b) 425 =EY

40. If 300 kg of coal costs ¥6000, then what is the cost of 120 kg of coal?

(a) ¥1200

(b) T2400

(c) ¥3200

(d)y %4200

Answer: (b) %2400

ﬂﬁ300ﬁm’mmma?r£m?r?6000% ar 120 fFraams He dr Had w741 Fef?

. (a) 21200
. (b) 22400
. (c) 23200
. (d) 74200 | é\fi pﬁ/
3% (b) T2400 “1\\0
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